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Ref. https://keras-team.github.io/keras-tuner/
https://www.tensorflow.org/tutorials/keras/keras tuner
https://www.tensorflow.org/tutorials/keras/keras_tuner?hl=ko
https://keras-team.github.io/keras-tuner/documentation/tuners/
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def build_model(hp):
model = Sequential()
foriin range(hp.Int('num_layers', 2, 5)): #layers 20{| A 57HX]
model.add(layers.Dense(units=hp.Int('units_" + str(i),
min_value=16,
max_value=64,
step=16), #node= 160 Al 647t K| 167tH 2 2
activation="relu'))
model.add(layers.Dense(1))
model.compile(
optimizer=keras.optimizers.Adam(
hp.Choice('learning_rate', [1e-2, 1e-3, 1e-4])), # AdamO| M St5 &2 371 S0 A
loss='mse',metrics=['mae'])
return model
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from kerastuner.tuners import RandomSearch
tuner = RandomSearch(

build_model,

objective='val_mae’,

max_trials=100,

executions_per_trial=3,

directory='./Data/',

project_name='Keras Tuner Test')

tuner.search(x_train, y_train,
epochs=50,

validation_data=(x_val, y_val))

tuner.search_space_summary()
tuner.results_summary()

# check results
models = tuner.get_best_models(num_models=3)
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from kerastuner.tuners import Hyperband

# O| = hyperband tuner A& 5t= g

tuner = Hyperband(build_model, objective = 'val_mae', max_epochs = 50, factor = 3, directory = './Data’,
project_name = 'hyperband’)

tuner.search(x_train, y_train, epochs = 50, validation_data = (x_val, y_val))

# Get the optimal hyperparameters
best_hps = tuner.get_best_hyperparameters(num_trials = 1)[0]
print('The hyperparameter search is complete. The optimal number of layer is', best_hps.get('num_layers'))
print('The number of units in each hidden layer is')
foriinrange(best_hps.get('num_layers')):
print(best_hps.get('units_"+str(i)))
print ('The optimal learning rate for the optimizer is', best_hps.get('learning_rate'))

# Build the model with the optimal hyperparameters and train it on the data

model = tuner.hypermodel.build(best_hps)
history=model.fit(x_train, y_train, epochs = 50, validation_data = (x_val, y_val))
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